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QUESTION 1

Which two actions limit the consequences of a network based attack?

A. Implementing the principle of least privilege

B. Installing a firewall at the outer boundary of your systems

C. Placing Internet-accessible servers in a demilitarized zone

D. Deploying a single sign-on system to provide system-wide authorization
E. Allowing application servers privileged access to all databases

Correct Answer: BE

QUESTION 2

Which two are significant advantages of developing web applications with JavaServer Faces (JSF)?
A. JSF pages can be previewed outside the web container.

B. Backing beans can be unit tested outside the web container.

C. Client-side validation mechanisms are automatically generated.

D. JSF pages can be integrated with AJAX.

Correct Answer: CD

QUESTION 3

Your company is considering migrating a persistence module, originally implemented as CMP entity beans, to now use
JPA.

Which two statements are true?

A. Each CMP entity bean can be mapped to a single JPA entity class.

B. The client code that accesses the CMP entity beans does not have to change.

C. IPA cannot capture all the kinds of relationships supported by CMP entity beans.

D. The resulting IPA persistence module can be used on both the client and the server.

E. The JNDI name of a JPA entity class can be customized to match that of the corresponding CMP entity bean.

F. Remote clients of the CMP entity beans must start using web services to access the JPA entity classes on the
server.

Correct Answer: AD
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QUESTION 4

Which two kinds of applications benefit from the adoption of service oriented architecture (SOA) inspired

100% Real QandAs | 100% Real Pass patterns and practices?

A. An application that retains legacy systems while evolving to accommodate future business demands

B. An application with tightly coupled services that enable messages to flow easily

C. An application that utilizes fine-grained interfaces to provide communication to the object of a service

D. An application in which the communication between services and the business process are platform independent.

Correct Answer: AD

QUESTION 5

Which option describes the design relationship between session beans and entity beans?
A. Aggregation

B. Separation of concerns

C. Common reuse principle

D. Liskov substitution principle

E. Interface segregation principle

Correct Answer: B

QUESTION 6

You are asked to propose a software deployment strategy that will reduce a client will also make deploying and testing
their software stack more efficient.

Which element would you include in your proposal?
A. Vertically scalable platform

B. Horizontally scalable platform

C. Virtualized platform

D. Standard unit testing software

Correct Answer: C
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QUESTION 7

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD

QUESTION 8

A company that sells avatar skins tor virtual reality environments has a static website for advertising their wares. The
website was built using What You See Is What You Get (WYSIWYG) html editor and also contains a lot of JavaScript.
The company now wants to add server side processing capabilities developing a shopping application, the company is
considering using JavaServer Faces (JSF)

Which statement is true?

A. The JavaScrip code has to be rewritten to conform to JSF standards.

B. JSF tags cannot be integrated into the HTML generated by WYSIWYG editors. 100% Real QandAs | 100% Real
Pass

C. The web pages cannot be previewed accurately with a generic WYSIWYG HIML editor.
D. The web pages must be converted into Face lets.

Correct Answer: C

QUESTION 9

Which statement is true about the use of security-related annotations in an enterprise bean?
A. They can be used to specify permissions only on business methods.

B. They can be used to specify permissions on a class or its business methods.

C. They can be used to change an authentication mechanism.

D. They can be used to acquire a secure connection using SSL.

E. They can be inherited from a parent abstract class.

Correct Answer: B
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QUESTION 10

Your company is creating a Java EE corporate wide workflow system in winch significant internal business events are
consumed by multiple applications. Due to multi-year development plans, many of these applications do not exist yet,
even at the design stage. IT has defined standard data formats for these events in the form of small XML documents.
Also, the rules for how an application filters and processes events are not fixed In advance and can change over the life
or the application.

Which combination of technologies is best for distributing and consuming these events throughout the company?

A. Relational database and JDBC

B. HTTP client library and servlets

C. Remote Method Invocation (RMI) and stateless session beans

D. Java Message Service (JMS) topics and message-driven beans

E. JMS queues and message-driven beans

Correct Answer: D

QUESTION 11
Which two measures are most effective in protecting websites from cross site scripting (XSS) attacks?

A. Escape "™ parameters that displayed or evaluated by the JavaScript interpreter.

B. URL-encode "'parameters so they will never be evaluated by the JavaScript Interpreter.
C. Ensure that the session cookie is sent only on UTTPS connections.

D. Treat all user-supplied input as unsafe, and white list known good characters

E. Execute all user-supplied scripts in a server-side sandbox.

Correct Answer: CE

QUESTION 12

You are implementing an online music that will store and play a user\\'s collection of songs. You want users to rate their
songs and view the top songs from friends. All queries must complete in four seconds or less.

Which approach would meet the response time requirement with minimal overhead?
A. Java class that uses JDBC with embedded SQL

B. Java class that uses an optimized stored procedure

C. JPA entity class with a lazy fetching strategy

D. JPA entity class with an eager fetching strategy
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Correct Answer: B

QUESTION 13

Which statements are true about Java integration technologies?

A. Remote Method Invocation (RMI) helps to connect subsystems in a loosely coupled manner.

B. Java Message Service (JMS) helps in synchronous messaging between Java and non-Java systems.

C. JMS helps to broadcast messages to multiple Java-based receivers.

D. Java Connector Architecture (JCA) helps to integrate with heterogeneous legacy enterprise information systems.

Correct Answer: C

QUESTION 14

Which three statements are true about inheritance?

A. Inheritance helps to reuse existing code implementations.

B. It should be possible to substitute the derived class for its base class.
C. Inheritance allows you to modify the behavior of objects.

D. Inheritance promotes encapsulation better than interfaces.

E. The derived class must override all methods of the base class.

Correct Answer: ABC

QUESTION 15

A successful web application is used by over two hundred thousand users. Due to this substantial load, the database is
over bridged and fails frequently. All data, included critical user records and temporary session data, is stored in the
database. Because of resource constraints, a new database system cannot be installed.

Which change will reduce the load on the database?

A. Creating more entity beans to optimize interaction wild the database

B. Refactoring the web application to use DAOs to communicate with the database

C. Refactoring the web application to store temporary session data on the web servers

D. Adding more web servers to the web tier to distribute the load and reduce the number of transactions on the
database.

Correct Answer: C
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